1.5: Complex Numbers

1. IfV—4v=9 4 2i%9 — /=27 = a + bi, wherei = vV—1,thena + b =

A) -5
B)-11
)5
D) 11
E) 7

2. If ais the real part and b is the imaginary part of the complex

(3—40)(3+40)
10-51

number z = ,Wherei =+v—1,thena+ b =

A)3
B) 15
C)5
D) 1
E) -5



2-3i =36 .
3. The standard form of the complex number =Y + NN
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4. The sum of the real and imaginary parts of the complex number

(1—2i)(V—=4 —3/=27) +i'%, is equal to

A)2
B) 4
)8
D) 10
E) 12



5. The conjugate of the complex number (2 — 3i)7Lis

6. If a + bi are the nonreal complex solutions of the equation x3 + 1 =

0,thena-b =
A
B)1
02
D) -
E) 5



7. Ifz=—/=-22+ % where i = v —1, then the conjugate of z is

A) —1 + 4i
B) 1 — 4i
C) 1+ 4i
D) —1

E) 1

8. Ifi(3— 2i)2 = x + yi, where x and y are real numbers, then the

value of x — y is equal to:

A) 17
B) -7
C) 19
D) -19
E)5



9. Ifz =1, then z1001 4 271000 4 37999 4 4,998 —

A) =2 — 2i
B) —2 + 2i
C) 2 — 2i
D)2 —i

E) 3 + 2i

101fi =+v—-1landz=1+iV3, thenl_(z2 — 2z) is equal to
l

A) 4i
B) —2 + 3i
C) —3i
D) 1-3i
E) 6i



11fi =vV—1landz = 71_—jl — i°1, then the conjugate of z in standard
form is
A)zZ=2+4i
B)Z=2-—2i
C)z=-2-—4i
D)Z=—2+4i
E)Z=2—4i

12. The expression (V=2 + vV—3)(~—8 —V-27) + lgiﬁ simplifies to

A)4++/6
B) —4 ++/5
C)—-3+6
D) 4 + V6i
E)4—+6



13.The sum of the real part and the imaginary part of the complex

v=a(¥=27-V=16)
(1+0)?

number is equal to

A) -7
B) -1
Q)1

D) 4i
E) -2

14.0ne of the nonreal complex solutions of the equation x3 —8 = 0'is

A) — 1 ++/3i



15.The expression (3 — 2i)?(1 — 3i) + Y—8v—=9 simplifies to

A) —31 —33i

16.The conjugate of % is
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8+i”
2+3i13

17.The conjugate of the complex number in standard form is

A) 1+ 2i

—i23

18 16t i = YT, i L2

T = A+ Bi,thenA+ B =

B) -2



18.If the quadratic equation x% + 2kx + 2k = —3 has two non-real

complex solutions, then the set of all values of k is

A) (—00,0) U (2,)
B) (—1,3)

19. If:+\/__9\/__4

3_
210 6v-8 = a+ bi, wherei =+v—1,thena+ b =

A)-2
B) 6
C) 2
D) 4
E) -1



20.For i = v—1, which ONE of the following is FALSE

A) VS5V=Z = VIO

21.leti = V—1.If V2 —V=2)(¥8 + V=2) + Y-8 = a + bi, then a +
b =



_ (2+0)2

22.1f z = = then write z in standard form

A) —4 + 3i

23. The solutions of the equation %xz + gx +1=20are

V2.
—i

A) — .
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1+i7

24.For i = v/—1, the expression (V—8)(v/—9) — — =

1+i

A) —5i
B)—6+1i
C)—6—1i
D) —7i
E)6+1i



